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h=4.5m w=0225t/m DL+SL/DI=2.2 3} w=0.200 t,/m( HHTAmDOH)
18
— iR L 8 10 12 14 16 Gl
W (A PaTE 1.80 225 2.70 315 360 360
(t) D.L:A S. L. 3.96 495 5.9 4 6.93 792 7.9 2
V,=Vz D 0.90 112 1.35 158 1.80 1.8 0
it) D+S 1.98 2.4 6 2.97 3438 3.96 3.96
H,=-Hg D 0.32 0.47 0.6 4 0.8 4 1.04 112
(t) D+ S 0.7 0 1.03 1.41 1.85 2.29 246
Mg =Mp D —1.44 —212 —238 —3.78 —4.68 —5.04
(tem) D+ S —3.17 —4.6 6 —6.34 —8.32 —1030 ~1-1:0:0
Npc=Npo D —0.57 —0.717 —1.00 —1.25 —1.52 —1.59
(t) D+ S —1.25 =169 —220 —2175 —334 —3.50
Qe= Qe D 077 0.94 dhd ol 15247 142 1.4 0
(t) D+S 1.69 2.07 2.4 4 2.79 312 3.08
15 % 3 38k
h=5.5m w=0.225t/m D.L4+S.L/D.L=1.6
— i ¢ 8 10 12 14 16 18
w D.L. 1.80 2.25 2.70 3.15 3.60 4.05
(t) D L+S.L. 2.88 3.6 0 432 5.0 4 5.7 6 6.48
Va=Vg D 0.90 1.1.2 1.35 1.58 1.80 2.02
(t) D+ S 1.44 1.79 2.16 2.53 2.8 8 3.23
Hy =—Hg D 0.27 0.40 055 0.7 3 091 111
(t) D+ S 0.4 3 0.6 4 0.88 1.1%, 146 1.7 8
Mg =Mp D —1.48 —220 —3.02 —4.02 —5.00 —6.10
(tem) D+S —2.37 —3.52 —4.83 —6.43 —8.00 —9.76
Ngo=Npc D —0.52 —0.70 —0.92 —1.15 —1.39 —1.64
(t) D+S —0.83 =992 AT —1.84 —222 —262
Qc=—c D 0.7 8 0.9 6 1.13 1.30 1.46 1.6 2
| D+S 1.25 1.54 1.81 2.0 8 2.34 259
3 @ HL IR
h=5.5m w=0.225t/m DL+SL/DL=2.2 ¥ w=0.200 t/m( ##F4mD% )
— R 8 10 12 14 16 (Jb’ﬁ%fm)
W D.L. 1.80 225 2.70 315 360 360
(t) D.L+S.L. 396 4.95 5.9 4 6.9 3 7.92 7.92
Va=Ve D 0.9 0 112 1.35 1.58 1.80 1.80
(t) D+S 198 246 2.97 348 3.96 3.96 '
H, =—Hg D 0.2 7 0.40 0.55 0.73 091 0.99 |
(t) DS 059 0.88 121 1.61 2.00 218
Mg =Mp D —1.48 —2.20 —3.02 —4.02 —5.00 —544 |
(tem) D+S —326 484 | —6.64 —8.84 | —11.00 | —11.97 |
Ngc=Npo D —0.52 —0.70 —0.92 —1.15 —1.39 —1.47
(t) D+S —1.14 —1.54 —2.02 —253 —3.06 —3.23
Qpe=c D 0.78 0.96 1.13 1.30 146 1.44
(t) D4+S 178 211 249 2.8 6 321 3.17




